@ Bitspower®

BPTA-XYZ-RES-PWM-V2

FHERAR
DKoo 18
QBE. ... 118
Q)R o 118
FEMHEEEAS

(® TA-GMALP1622-GS. ....... (h[E]
() TA-GFALP1622-GS ........ 118
(® TA-90RE-GS ............... 118
@ TA-EXAIRGS.............. 118
Hek#ha

B 2%
@B#............ceee, 4
NERE. .. 1%
@ FpINGEEIEH ............ 118
@ BP-CADRGBY............ 118

BPTA-HLXYZ-KIT#HZ&REEE

V4

FRDREBHERORSTEINARBEROED - WEEHBABTEA
ERRERE G UBYALE -



C WEEM
D #REES

SIKER#ME
FEEBE : 12V DC
MR 1IW
BARE 1 960L/h

1% & : 40~45dBA
ESREMEE : 60°C
PWM : B

e : 50,000/)\FF
R OBE:2F

S1ERR 7 o] HEMMALES - el
BRERGHBRIEREEMNE -

2 4A%ERE (EEAIE)

BRFTHER

ABBERZRR

&), BEENES

©) tznms -
=

ARBE

pe S KR

1 AERRHAIRET - MEIKRESBHFERHEKEZERBIEF -
2 KA MRAIKAL L REAKE T BERB ERBE (EEE H AKIEFRE) -
3ERKER/BIDKE - MR UEERHNOHHHOKE - Mo BEBEEKEAIE -




bOKBAR

B—IKEE B RHEA LOKERFBHEA

LEKAABIEREBACSRAAKA (AHBREEHE  CE—A) - LEKBREKAAGEREKLEEAKL -
2EBIBEBEEER/CA, - AIB - CPB—AHREBRAAKT - 2. BEZRAEREEKAERED - EEP—F, -

3 BEHBRAEREEKAEED/ERP—T, - 3B —KBBEEAB/CLE—ILAAKINEK (BEAR) - BiEE
4 BIED/EHLH—RIEKT, - KR -

4 BED/EAE—RIEKAL

> EKIEEE

EESHNKLRMERES  DF KRS - 8" BKA TAZKENADMW - ZENA" 24PINB AR

BMBER  BKEPHNEREPEKEIYL - BIRKEEETNE KB WA -

(24PINBVR R | BECIRFBHAXERE - CEREZFMME - )

iEE : Bitspower BiEHEE ERZMEK - @FK - MABitspowerfIREIER KL RER ; MEFE

A\ TEBRNKSREFEEEHE - KEEE KREHALEER KHERRIBHELRNUY G =
RAKERECATRNZEER - HEEETEAERHERSE -
FEKA - BIREBKRER ¥

—~BIRIER TR BIERE EE R
BERESENUR - NEREE
BP-CADRGBY1E2E BDRGBIE #kc
HrepE - HEBWEHR -




Bitspower®

BPTA-CPUMS-DRGB

=

©
< et INTEL LGA 775
| £ T 288% INTEL LGA 115X
G 3538 INTEL LGA 1366
o i INTEL LGA 2011
. EEEEE INTEL LGA 2011-V3

INTEL LGA 2066

‘I— INTEL LGA 775

7

1O =R @ H At HDRGBIEE -

(1) [2) => BPTA-DRGBMFC

E3/ DRGB#Z I3 (R E11E)

ouT

IR BKED - AEERASHCRRELRNWUEL - EAFREW - BRKROERT - ET24/)0\EREKIH - BERBKELEBRIN  BRRERKMENBRSHNER -
AREREHERWRT BN RBRENES - MATBOASTEMN - ERERERHNUEYRE -



ZEAHL

IR IRIEERIE 22
FHEBR4%

EE

b 1EKBA

FL 01 E 42 44

RERAN2

AIERIERNIEFZE

FEBHTERAT - BERAEEARAY FEIR4
RINFE - FERATAERBIE  SHAT
B - SCM3F6IBRME WS - T RWHHER B
- RS AERCPUM SRR - —
N g 12KB2 R
REE
SCM3F61R%4%

12XKBA

BiRE A
BRESZR
EBHER

M3x322 K124k

ER  BUKAD - BAMERMASHCRREERNOUEL - EAREN - ERKRNERT - ET24/0\BREKOIE - BEREKEREEREN  BRERKMERNEMIHMERR
AREREHERVRT B RBENES - MATBOASTEM - ERESERHUEYRE -



@ BI'l'SpOWBI'® for NVIDIA GEFORCE RTX 2080 / 2070 SUPER / 2080 SUPER

BP-VG2080RD-A2

h
] N

N

I REVE R BARYDRGBIGE

® l

ﬂﬂ I
g
(e
(1) BP-VG2080RD-A2 14
@ 10 ErEmBA 5h
(@) 25 BrERBA 6 R
@ zEEH4 1%
(B) M2.5x8 ERig#4 15%
@ Bitspower B 1R
(T) M2.5x 6 EKiB# 1%
M3 x 8 IR 4 4%
@ Bitspowertg ik 1R

IR BKED - AEERASHELRELRNWUEL - EAREW - BRKROERT - ET24/\EREKIH - BERBKELEBRIN  BeRERKMENBRSHNER -
FREREHERNRT BN RBRENES) - MATBOASTEMN - ERESERHUEYRE -



oIy

: ek
Hﬂ

NVIDIA GEFORCE RTX 2080

BRARNEAENIERERAUE

&k HEFERERE
1 mmEzER
B 25 mmEHRR

IR BKED - AEERASHCERELRNWUEL - EAFREW - BRKROERT - ET240\EREKH - BERBKELEBRIN  BeRERKMENBRSHNER -
AREREHERNVRT BN RBRENES - MATBOASTEMN - ERESERHUEYRE -



for NVIDIA GEFORCE RTX 2080Ti

AT IR E ith 2 S RIDRGBIEIE
Digital RGB PIN on motherboard

or other equipment.
BT IR E thi2 ERIDRGBIEIE

(e

(1) BP-VG2080RD-A2 14
@ 10 ErEmsA 5AH
(3 25 =RERBA 6 A
@ zEgH4 1%
(5) M2.5x 8 BEKiB#k 15%
@ Bitspower B 1h
() M2.5x 6 KB4 1%
M3 x 8 IR 4 4%
@ Bitspowertg 1k 1R

IR BKED - AEERASHELRELRNWUEL - EAREW - BRKROERT - ET24/)\ERKIH - BERBKELEBRIN  BeRERKMENBHSHNER -
FREREHERNRT BN RBRENES) - MATBOASTEMN - ERESERHUEYRE -



IR (R E1E)

Original baffle(Not Included)
R BRAEIFE()

@

@7

(e

(1) BP-VG2080RD-A2
(@ 10 =rEnBA
(3 25 =RERBA
@ zEgH4

(B M2.5x 8 E:kig#
@ Bitspower &1k
(@) M2.5x 6 ki
(8 M3 x8 =K
@ Bitspowertg 1k

14
5k
6 R
1%
15%
1k
1%
4%
1k

for NVIDIA GEFORCE RTX 2080Ti

ERERBRERA N
Installation with the original backplate
BRI BRERAR

y
&

DRGB

A T IREE it 5 RIDRGBIETE
Digital RGB PIN on motherboard
5 Or other equipment.

BT IREE thiZ B AIDRGBIETE

XERANRBENRR R FERRUEME

The original thermal pads on the back plate should
be placed back to their original position.

BRANR SRERBZRUEWE

IR BKED - AEERASHELRELRNWUEL - EAREW - BRKROERT - ET24/)\ERKIH - BERBKELEBRIN  BeRERKMENBHSHNER -
FREREHERNRT BN RBRENES) - MATBOASTEMN - ERESERHUEYRE -



"'T-.! at (]
g A9 d9ds
oty

NVIDIA GEFORCE RTX 2080Ti

BRARNEAEWIERERAUE

%% HEFEREHRE
1 mmEzER
B 25 mmEHRR

IR BKED - AEERASHELRELRNWUEL - EAREW - BRKROERT - ET24/\EREKIH - BERBKELEBRIN  BeRERKMENBRSHNER -
FREREHERNRT BN RBRENES) - MATBOASTEMN - ERESERHUEYRE -



Bitspower®

BPTA-FX1812NT-3
<« ZEAN

eI S

R~ 120x120x25mm
BEEE DC12v
TSR Fan:DC12V / LED DC5V
IR Fan:DC 7V
BEEER Fan:0.20A/ LED:0.40A
IR EFE Fan 2.4W / LED 2.0W

FEEEY 800~1800RPM=10%

== 59CFM

J2 2 1.2mm-H20 / Min:0.9mm-H20

5= 25Dba Max:28Dba

= 30000 Hours

ERE 7 leaves
LEDJEERE] 8pcs
IR PWM 4pin header / DRGB 5V 3pin header

IR BKED - AEERASHELRELRNWUEL - EAREW - BRKROERT - ET24/\EREKIH - BERBKELEBRIN  BeRERKMENBRSHNER -
FREREHERNRT BN RBRENES) - MATBOASTEMN - ERESERHUEYRE -



Bitspower®

BPTA-DRGBMFC
<« ZEAN

& EE TR

*[EFZMODE+MMODE-E B EA B EET

AREAROFEE TBBENREB MRS - BREl

+To avoid short circuit, please cover the unused
headers with a plastic cover or electrical tape.

CREREOBE LBERENLESRHEN - BREE

IEDRGBIZFIZZEAZ MR ER LA EAIRGBEN - —(EDRGBEOI D H/\E - ARA—EHZEXEIRENNEABNERSRE ; AR - ZHREEEENE
FEMR - OB B g LR R -

EREE:

1 ICiEHIes R EEfRR T ERDRGBIZRIZASMAERES) - —ARDRGBE &RV BERHSV X 1A = SWHERES) - BEEHDRGBERABREAZBRLK - HEOEHAB
ABHRECRERREENER - AIBERDORE - IHEHRAEEERNELRERL -

2 BRRI—IR R IR ERETRRAR ST #I FEDRGBIZEEROSVETH -

3 EBUEAEHIERR - BRESATAIRO -

HRE -

TYFEE : EREESVEIA

TR INRIW

IR BKED - AEERASHELRELRNWUEL - EAREW - BRKROERT - ET24/\EREKIH - BERBKELEBRIN  BeRERKMENBRSHNER -
FREREHERNRT BN RBRENES) - MATBOASTEMN - ERESERHUEYRE -



Bitspower®

BPTA-PFANMFH
<« ZRKAHW

[2 55 1% O (7 R )

CPU_FAN

1: WRIOMARSISHED - BRAEREORE - MREDERASSH

2 PWMEEO#EMRCPU_FANSED - AT 0% MRMEE - 2EENAPWMERASED (MUREE - BREEPWMIILE
H o BelERE  BITK . —EBORRLRNSEED  REAED BRSO

3 HETNAEREEMLE  TLNEIRAEES ORESPWMATIRSBE - REMBLAAR

4 BFIR12V E4R3pin/4pin@S - (3pinESHTLUER - BiF L 22%EH - BA3pinASEPWMEEAE )

5 ERBEESAEIMER - SEMBEETROMTT - tha—EE TR

IR BKED - AEERASHELRELRNWUEL - EAREW - BRKROERT - ET24/\EREKIH - BERBKELEBRIN  BeRERKMENBRSHNER -
FREREHERNRT BN RBRENES) - MATBOASTEMN - ERESERHUEYRE -



Bitspower®

X3 : BitspowerZ#HEE ERZAMK » #FK - MABitspowerfIRBER KL RER ; MEFBTT
A BERNKSRENERERE  KERE KREHALERE - KEERRIAZHELELIBRK
EREEATINNZEER - HEERTHERNERER -
RiEKE - FARMEKRER -

ZRtREEf -

AR HKAD - BEERASHCZREEENUE L  EARER - ERKRNBERT - ET24)0BHIKIE - BRERKELEEHIN  BRRERKMENBMSHIEIR -
ARERBHERMNRELURBENES - MAEOALZTEMN - ERBSEARGEUBYRE -



@ Bitspower®

BPTA-XYZ-RES-PWM-V2

Accessories

@D Water Tank ............... 1PCS
@ Pump...eiiiii 1PCS
®) Flow Indicator............. 1PCS

Complimentary Fittings

(® TA-GMALP1622-GS........ 1PCS
() TA-GFALP1622-GS........ 1PCS
(® TA-90RE-GS.............. 1PCS
@ TA-EXAIRGS............. 1PCS
Other Accessories

Bracket..........covvntn.. 2PCS
(O M3x8 Screw............... 4pCS
Hex Wrench (2.5MM)...... 1PCS
@ 3PIN/4PIN Transfer4PIN. .. 1PCS
@ BP-cADRGBYA........... 1PCS

Bitspower reserves the right to change the product design and
interpretations. These are subject to change without notice. Product
colors and accessories are based on the actual product.

BPTA-HLXYZ-KIT Installation Guide

V4



1 Power Supply and Pump

1 1

IR
A B CD

A Negative electrode -

0
o
9

B positive electrode +

C Speed signal

D Speed control signal

S1 Pump Spec.
Rated voltage : 12V DC

Power consumption : 17W
Maximum flow : 960L/h

Noise : 40~45dBA

Maximum system temperature : 60°C
PWM : Yes

MTBF : 50,000 hours

Warranty : 2 years

The water tank and pump can’ t
be disassembled! Once disassem-
bled, there is no guarantee.

Except the motherboard, S1 pump
can be powered from the power
supply via a patch cord.

2

Section B Assembly

3 Designed For Flow Indicator
:

1.The product comes with the Flow Indicator, and the water loop can be judged whether
flowing smoothly or not according to the impeller turning.

2.The water must be through into the two holes of the flow indicator to make the impeller
turning. (No fixed inlet and outlet)

3.The water loop in this product is the single loop. Players can choose to connect the water
in series or in parallel, and they can also create a two-color waterway.




4 Water Distribution

Single series connection :

1.The water goes from outlet A to the inlet of other water cooling parts. (Or
A choose to connect B or C)

2.If choose to connect to B, and then C has to connect to the inlet of the

Double waterway connection :

1.The water goes from outlet A to the inlet of other water cooling parts.
2.And then from the outlet of the other water cooling parts to D or E.
3.Choose B or C as the inlet or outlet, connect to other water cooling parts

other water cooling parts.
3.And then connect to the D or E.
4.Choose D or E as the hole for filling water.

(Free chosen) as a single finished

> Water Filling Safeguard

water loop .

4.Choose D or E as the hole for filling water.

Choose your desired dye color and mix it with pure distilled water. Pour the water mix into the reservoir via the water filling hole. Once the reservoir is
90% full, turn on the power supply for the pump to run and let the air exit the loop. Turn off the power supply when the reservoir is near empty. Repeat
until all the air has exited the loop. (In order to power the pump only, connect the power switch connector to the 24 pin cable of the power supply. This

will allow the power supply to bypass the motherboard and make the pump work alone.)

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or
purified water for their water-cooling liquid. If the consumer chooses different
oN water-cooling liquids, the resulting impurities may cause peeling of the coating on some
of the hardware, water channels blockage by built-up residue, improper operation of the
water pump, water tank tube breakage, and o-rings deformation leading to leakage.
Any issues related to the use of inappropriate water-cooling liquid will be the responsi-
bility of the consumer.
Do not turn on the pump if the reservoir is empty.

®  DRGB Light Effect Start

—The light bar plug can be connected to the
motherboard, in synchronization with the
motherboard lighting effect. Or select the
serial connection BP-CADRGBY1 and other
DRGB lighting effect accessories to share the
lighting effect control.

0=
\4




Bitspower®

BPTA-CPUMS-DRGB

80
75
72

& S8

INTEL LGA 775
INTEL LGA 115X
INTEL LGA 1366
INTEL LGA 2011
INTEL LGA 2011-V3
T T INTEL LGA 2066

INTEL LGA 115X
NTEL LGA 1366
NTEL LGA 2011
NTEL LGA 2011-V3
NTEL LGA 2066

o
‘I— INTEL LGA 775

e B
Digital RGB PIN on @motherboard or @ other equipment.

(1) [2) => BPTA-DRGBMFC

motherboard DRGB Multi Function Contrl\er(/\/ot included)

\. J/

ouT

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



Installation 1

Follow the right sequence to install.

Thumb screw
SPRING/3# %

>—— Tmm SPACER

CPU Block

SCM4M3

Installation 2

Follow the right sequence to install.

The thumb screw cannot be locked too tightly,
the spring is slightly pressed and the gap is kept
as shown below. The thumb screw cannot be
rotated to the end. When the spring screws too
tight, the SCM3F6 screw will be driven and will
be taken away from the motherboard, which will
cause the water block and CPU not to be closed
well.

Thumb screw

SPRING
Tmm SPACER

CPU Block

SCM3F6 screw/

Tmm SPACER

Back Pad
Paste Pad
Metal Backplane

M3x32mm SCREW

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



for NVIDIA GEFORCE RTX 2080 / 2070 SUPER / 2080 SUPER

@ Bitspower®

BP-VG2080RD-A2

A
] N

¥

» G
¥

f

B\

Accessories
(1) BP-VG2080RD-A2 1 SET
@ 1.0 mm Thermal pad 5PCS
@ 2.5 mm Thermal pad 6 PCS
@ Booster Screw 1PCS
(6) M2.5x8 mm Screw 15 PCS
@ Bitspower backplane 1PCS
(@) M2.5x6 mm Screw 1PCS
M3 x 8 mm Screw 4 PCS
@ Bitspower baffle 1 PCS

Digital RGB PIN on motherboard
or other equipment.

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



o
NI JIAATITITTITIIO] (T

NVIDIA GEFORCE RTX 2080

Applying the thermal pad and thermal paste on correct positions.

%% Using appropriate amount of thermal paste.
1 mm Thermal pad
2.5 mm Thermal pad

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



for NVIDIA GEFORCE RTX 2080Ti

AT IR E ith 2 B RIDRGBIEIE
Digital RGB PIN on motherboard

or other equipment.
BT IR E 2 B AIDRGBIEIE

®

1
ﬁﬂ I
4
Accessories
(1) BP-VG2080RD-A2 1 SET
@ 1.0 mm Thermal pad 5PCS
@ 2.5 mm Thermal pad 6 PCS
@ Booster Screw 1PCS
(6) M2.5x8 mm Screw 15 PCS
@ Bitspower backplane 1PCS
(@) M2.5x6 mm Screw 1PCS
M3 x 8 mm Screw 4 PCS
@ Bitspower baffle 1 PCS

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



RN (FE1E)

Original baffle(Not Included)
R B A EIFE()

@

@7

Ao

(1) BP-VG2080RD-A2
(@ 10 =rEnBA
(3 25 =RERBA
@ uEEH4

(B M2.5x 8 Ekig#
@ Bitspower &1k
() M2.5x 6 ki
(8 M3 x8 =K
@ Bitspowertg 1k

14
5k
6 R
1%
15%
1k
1%
4%
1k

for NVIDIA GEFORCE RTX 2080Ti

ERERBEIRERA
Installation with the original backplate
BRI BRERAR

y
&

DRGB

A T IR E thF2 5 RODRGBIETE
Digital RGB PIN on motherboard
5 Or other equipment.

BT REE thiZ B AIDRGBIETE

XERANRBENRR A FERRUEME

The original thermal pads on the back plate should
be placed back to their original position.

BRANR SRERBZRUEWE

IR BKED - AEERASHERRELRNWUEL - EAFRER - BRKROERT - ET24/\EREKIH - BERBKELEBRIN  BeRERKMENBHSHNER -
ARTEREHERNRT B RBRENES - MATBOARSTEMN - ERESERHUEYRE -



@

ooon o
SE00 o090

ol 1T R R R

NVIDIA GEFORCE RTX 2080Ti

Applying the thermal pad and thermal paste on correct positions.

&% Using appropriate amount of thermal paste.
1 mm Thermal pad
2.5 mm Thermal pad

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



Bitspower®

BPTA-FX1812NT-3

<« |nstallation

oMl N

O
| | [ |
A B D

A Negative electrode -
B Negative electrode +
C Speed message FG

D Speed control PWM

Specification

Measurement 120x120x25mm
Rated Voltage DC12v
Operation Voltage Fan:DC12V / LED DC5V
Staring Voltage Fan:DC 7V
Rated Current Fan:0.20A/LED:0.40A
Power Consumption Fan 2.4W/LED 2.0W
Fan Speed 800~1800RPM+10%
Max Airflow 59CFM

Air Pressure 1.2mm-H20 / Min:0.9mm-H20

Noise Level 25Dba Max:28Dba

Life time 30000 Hours
No. of Blades 7 leaves
LED Light Bar 8pcs

Power Connector PWM 4pin header / DRGB 5V 3pin header

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



Bitspower®

BPTA-DRGBMFC

<« |nstallation

Speed  Mode-

*Press MODE+ and MODE- buttons simultaneously
and release at the same time to enter auto mode.

AREAROFEE TBBRENREBHRE - BREl

+To avoid short circuit, please cover the unused
headers with a plastic cover or electrical tape.

S REREOBE LBERENLESRHEN - BREE

The DRGB controller is used to expand the amount of DRGB header of the motherboard. The controller can expand one DRGB header into eight, and control
multiple fans and LED strips compatible light effects controlled by the motherboard. In addition, the controller has its own lighting effects, which can be
controlled by the buttons found on the controller.

ATTENTION:

1: The controller can't increase the power supply of the DRGB header from the motherboard. A standard DRGB header can provide 5Vx1A=5W of power.
It is recommended that the combined length of the LED strip connected to the controller be shorter than 1 meter. If the DRGB header is overloaded, the
brightness of the light will be reduced considerably. To restore the brightness, some items plugged to the controller must be removed.This controller is
not compatible with the motherboard LED software.

2: Connection tip - Keep in mind that the arrow marks on the connector corresponds to 5V pin for the DRGB headers.

3: When using the controller separately, please connect to a SATA port only.

Specifications:
Operating voltage: DC 5V input
Power: Less than 1W

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



®

Bitspower

BPTA-PFANMFH

<« |nstallation

Fan(PWM)

Fan(NO PWM) CPU_FAN

1 : The PWM FAN Multi Function HUB solves the problem of insufficient motherboard fan headers by expanding a single
4-pin fan header into a consolidated 10 headers solution, allowing centralized management of all fan wires.

2 : Make sure the PWM interface is connected to the CPU_FAN header of the motherboard. The red pin header on the hub
is equipped with speed measurement function while the black headers are PWM conventional fan headers (no speed
measurement signal, but does not affect the PWM function).

Note : As one interface is extended into a multi-channel interface, only one of the fans speed is shown in order to avoid
fan speed mismanagement and computer crashes.

3 : Power to the hub can be directly provided from the PSU to reduce the load pressure on the motherboard. The
temperature control line PWM is then separately connected to the motherboard in order to provide accurate power
and temperature control.

4 . Compatible with the motherboard’s 12V 3-pin and 4-pin fan header. (If connected to the motherboard’s 3-pin fan header,
the hub’s fans will run at full speed as the 3-pin fan header doesn’t provide PWM speed control capabilities.).

5 : 3M adhesive tape is provided on the back of the hub for easy placement of the hub on a flat surface. A screw hole is also
available to secure the hub in place.

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



Bitspower®

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or puri-
A fied water for their water-cooling liquid. If the consumer chooses different water-cooling
liquids, the resulting impurities may cause peeling of the coating on some of the hard-
ware, water channels blockage by built-up residue, improper operation of the water
pump, water tank tube breakage, and o-rings deformation leading to leakage. Any issues
related to the use of inappropriate water-cooling liquid will be the responsibility of the
consumer.
Do not turn on the pump if the reservoir is empty.

Example

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.



@ Bitspower®

BPTA-XYZ-RES-PWM-V2

MNKAL

:I:\\/

Eesin
(@ F/ < - PR 1
QKR (h
@) KA e 1
TSRS
(@ TA-GMALP1622-GS........ ()
(® TA-GFALP1622-GS ........ 1%
(® TA-9RE-GS ............... 1%
@ TA-EXAIR-GS.............. 11
Hek#ns
-2 S 24
OF:-7 WU, 4
REWRE. .. 1%
@ KaPINSEBISHE ... 19
@ BP-CADRGBY1........... 19

BPTA-HLXYZ-KITA X578+

V4

FATREBXN@ANRIT BRI RBENNA - MEENORSTEA -
oA eSkG UM -



1 REKFEIR

C REES
D BE&ES

SUKRMME
FELE : 12V DC

I R 1IW
BAMRE : 960L/h

1% & : 40~45dBA
BBRUBE : 60°C
PWM : B

R : 50,000/
R 2F

KFESKRAREE |
—ZFBEIARE -

S1KERER Y ol EARHLERIS - 7]
B EARSIRINREEMS -

= //"
"‘

& REBIEE
) \_'Q DSREE -
=

ABRBRTM R

ARAR

1A @RRUHAIRT - RO BENERFHETKE &R InE -
2 KR PIIKAL A B /K 7 BEE s It B s (BB E H AKIRF R TE) °
3.HBRKENMRIIKE - R A EFERKIFFEOKE - MO AENEKEIE -




b OKBAR

B—8BKIEEA . XK BEF BRIEA

LEKAATEREASRAAKA (AEEREEE  CE—A) - LE—KBREKAAGEEEKLEEAKL -
2EFRERRER/CH, - B - CPB—IERHEBRAEAKT - 2. BEZI M EREEKAAED  EHP—7 -

3. BEHBRAFRREHKIGED/ERP—T - 3.5 —KEEEAB/CILE—LNAKS LK (HEHE ) - BEE
4 3FED/EALE— R, - oKE -

43R FED/EAE—IEKA -

> HKEIEEH

BRESHNKSRERAE - DABKEE B BKA" TAZKENADHR - FENA" 24PINBREHR"
EdEiR  IDKEPHESEPEKEHL - BIRKERSRNE KB REARD -
(24PINBK TR : FLATRITEATXEIRN - RRREETEMHE - )

AR : Bitspower BIUHZRE ERZIEK - 4%K - MABitspowerfIEfERKSRER ; IEFH

A\ TEMBKERSBRERRE - KEEE KRENFEE - 7J<$§%ﬁ&§%§€§‘%§l:‘v'§§21«‘ﬁ&@ =
RKEREEATRAZIOER - HEEBTHEERRTRRE -
KiEKET - BABEKREIR -

AT &IEL TR A EIRREE L EMR
SEREASTHNE - JERSE )

BP-CADRGBY1SHEEDRGBII %ifc
freRle - HE A Mg -




Bitspower®

BPTA-CPUMS-DRGB

I— INTEL LGA 775

=

INTEL LGA 115X
INTEL LGA 1366
INTEL LGA 2011

ouT

INTEL LGA 775
INTEL LGA 115X
INTEL LGA 1366
INTEL LGA 2011
INTEL LGA 2011-V3
INTEL LGA 2066

INTEL LGA 2011-V3
INTEL LGA 2066

154 @ = H S @ H Athi2 & HDRGBIEE -

(1) [2Y = BPTA-DRGBMFC
D

ARTREN RN BN RBEENRT) - MAEDOARSTEM - R eSRHUTMAE -

& IR BKET - EEBAMASHCELZRELBNUEL - £AFEN - SFPKROERT - HT240NEKIE - BESEKELEEFEN - B RERKNSHEMBEHHRA -



ZEAHL

IR IE ARG Fr 2o

Et:#%ﬁ%
BE

b 1EkEA

HAOIE E IR 22

REAN2

BB IEMRAYIGFF =3
FRIEH
R

12RBR

FREBLZAEPKE  BRERBERERRAE
FRINRE - FHRBLAEREIE - SR
i - SCM3FOIRL W) - HFRWHEEER
- RSB LSCPUIEE MR AT -

A Q)
R3X

SCM3F6i2z

1R A

BiRER
BRES R
EREWR

M3x322 KR4

ER - BUKAT - BRMINTESHOEREEBIUEL - EAFEN - SFKRNERT - #7240\ WHEKNE - WETRKETEHETEN - BRRERKMSHRBRBENIRSE -
ARTREN RN BN RBEENRT) - MAEDOARSTEM - R eSRHUTMAE -



@ Bitspower®

BP-VG2080RD-A2

0

N 0

07

Ao

BP-VG2080RD-A2
LOZERSRER
25 BRGRBR
BERY

M2.5 x 8 2R84
Bitspower &1
M2.5 x 6 2K
M3 x 8 ZKiF
Bitspower#ii

@EQOE@®®O®E

14
5h
6 R
1%

153%

1k
1%
4%
1R

IR BKET - EEBAMASHCELZRELBNUEL - £AFEN - SFPKROERT - HT240NEKIE - BESEKELEEFEN - B RERKNSHEMBEHHRA -
ARTREN RN BN RBEENRT) - MAEDOARSTEM - R eSRHUTMAE -

for NVIDIA GEFORCE RTX 2080 / 2070 SUPER / 2080 SUPER

N

] N

)

|
{
v N
¥

f

D 20NV
4

N

\)




o
NI JIAATITITTITIIO] (T

NVIDIA GEFORCE RTX 2080

SRBRANSAENERNAUE

% HEEFERERE
1 mmEzERR
B 25 mmEHRR

IR BKET - EEBAMASHEZRELEBNMUEL - EAFEN - BFPKROERT - HT24/0\NEKIE - BESEKELEBFEN - B RERKNSEEMBEHHRA -
ARTREN @A BN RBEENRT) - MAEDOARSTEM - e eSRHUTM AL -



for NVIDIA GEFORCE RTX 2080Ti

T RS E th 2 S RIDRGBIEIE
Digital RGB PIN on motherboard

or other equipment.
BT IR E thi2 = ARIDRGBIEIE

Ao

(1) BP-VG2080RD-A2 14
(@ L0EKSHZR 5K
(3) 25 =RSABHA 6k
@ zEBy 1%
(5) M2.5x8 Ekigs 15%
@ Bitspower B 1R
(@) M25x6 EKigL 1%
M3 x 8 B3k iR 4%
@ Bitspower#ii 1hR

IR BKED - EEBAMASHCLZRELBNUEL - £AFEN - BFPKROERT - HET24/0\NEEKE - BETEKELEEFEN - B RERKNSEEMBEHHRA -
ARTREN RN BN RBEENRT) - MAEDOARSTEM - FRAeSRHUTMAE -



RN (FE1E)

Original baffle(Not Included)
R B AEIFE()

@

@7

Ao

(1) BP-VG2080RD-A2
@ l0=RSHRBA
(3) 25 =RSABHA
@ z=ry

(5) M2.5x8 Ekigs
@ Bitspower B
(@) M25x6 EKigL
M3 x 8 B3k iR
@ Bitspower#ii

14
5k
6 R
1%
153%
1k
1%
4%
1k

for NVIDIA GEFORCE RTX 2080Ti

ERERBIRERA
Installation with the original backplate
BRI BRERAR

&

DRGB

.

AT IREE it 5 RIDRGBIETE
Digital RGB PIN on motherboard
5 Or other equipment.

BT IREE thiZ | AIDRGBIETE

XERANRBENR A FERRUEME

The original thermal pads on the back plate should
be placed back to their original position.

BRANR SRERBZRUEWE

IR BKED - EEBAMASHCLZRELBNUEL - £AFEN - BFPKROERT - HET24/0\NEEKE - BETEKELEEFEN - B RERKNSEEMBEHHRA -
ARTREN RN BN RBEENRT) - MAEDOARSTEM - FRAeSRHUTMAE -



NVIDIA GEFORCE RTX 2080Ti

SRBRANSAENERNAUE

X5 HEFERERE
1 mmEzERR
B 25 mmEHRR

IR BKET - EEBAMASHELRELERWMUEL - £AFEN - SFPKROERT - HIT24/)0\NE0RKIE - BESEKELEBEFEN - BRRERKNSEEMBMHHHRA -
ARTREN RN BN RBEENRT) - MAEDOARSTEM - R eSRHUTIAE -



Bitspower®

BPTA-FX1812NT-3
<« ZRAN

EME FG
ZFZE PWM

W

eI S

R~r 120x120x25mm
BEBE DC12V
TEsEE Fan:DC12V / LED DC5V
BoigE Fan:DC 7V
EE B Fan:0.20A/ LED:0.40A
TWEREFE Fan 2.4W /LED 2.0W

=5 800~1800RPM=10%

X&E 59CFM

X E 1.2mm-H20 / Min:0.9mm-H20

5= 25Dba Max:28Dba

E=3i) 30000 Hours

HR# 7 leaves
LEDST k% 8pcs
EERR PWM 4pin header / DRGB 5V 3pin header

IR BKET - EEBAMASHCELZRELBNUEL - £AFEN - SFPKROERT - HT240NEKIE - BESEKELEEFEN - B RERKNSHEMBEHHRA -
ARTREN RN BN RBEENRT) - MAEDOARSTEM - R eSRHUTMAE -



Bitspower®

BPTA-DRGBMFC
<« ZRAN

' EE F—1ER
+[@8 1 MODE + FIMODE- /& R AT A B Fh 1830

AREAROFEE TBBENREBHRE - BREl

+To avoid short circuit, please cover the unused
headers with a plastic cover or electrical tape.

CREREOBE LBERENLSRHEN - BREE

IEDRGB#ZHIREARY BEM EHHRAIRGBED - —PDRGBEODHN\ - AT S—EHIZSANEZHERBANRNBEMTHFIRE ; BN - FHBEEHTAUR -

OB IR R T IT SR IR IRE -

EREI

1 I8 R AEIR F = ARDRGBIZF AV ETIMEERAE ] - —ARDRGBIZEOR/DAIZ M5V X 1A = SWHEEE - BIVEEDRGBIFRKEAZBE LK - HEOMAHT
REEEIARETEPENEERNEE - RSB AESERWTAARERSD -

2 BERIG—FICHEL ERET SRR X M DRGBIGEE SV -

3 TN E SRR - B RESATAIRO -

2%

T1EEBE : DCSEMREBEMA

INFE - IhF1IW

IR BKET - EEBAMASHCELZRELBNUEL - £AFEN - SFPKROERT - HT240NEKIE - BESEKELEEFEN - B RERKNSHEMBEHHRA -
ARTREN RN BN RBEENRT) - MAEDOARSTEM - R eSRHUTMAE -



Bitspower®

BPTA-PFANMFH
<« ZRAN

RS 0 (5 E)

CPU_FAN

1: P RIOMRE4SED - RALTREORE - URETLBRELH

2 PWMEBOEERCPU_FANED - A@EOH MR - 2REIRPWMEMREED (TURES - BREIPWMIEE
S OBBNRRE - BTN - —MEORRHRNSEED - REREP—BRENNE

3 R TL AEEE S TEBERARES - BEAPWMMNERS i - HBMEERFR

4 ERAT12V EWR3pin/dpinRE - (3pinREHTLUER - BELE2EEE - FBA3pinREEPWMIBEIAE )

5 EAREEHAIMER - S EMIEE TR - thEs— N EERLA

IR BKET - EEBAMASHCELZRELBNUEL - £AFEN - SFPKROERT - HT240NEKIE - BESEKELEEFEN - B RERKNSHEMBEHHRA -
AREREBYFRER T ELURBENNT] - MBENORBITEA - R e ShHEUSYRAE -



Bitspower®

EE : BitspowerBiICHTREERZAMEK - 48K - MABitspowerfIRFENKSRER ; MEFBT
A EWRKSRSHBERRE  KERE  KREDNALER - KEERRIAZHETRIUBRK
EREEATRNZOEN - HREERTHERRFRRIE -
KA - BAEMKREIR

RSN

AR KA - BEBATASHCZREERNUE L - EAFEN - £FKROBERT - #7240 NHEKUE - BRTFEKEREEFEN - BRRKERKNSHEBMEAHHIRL -
AREREBYFRER T ELURBENNT] - MBENORBITEA - R e ShHEUSYRAE -



